2V3sin5x - V3sinx = cos24x*cosx + 2cos5x - 6
2\V/3sin5x - 2cos5x = cos24x*cosx + V3sinx - 6

2V3$ing;(2- 2c085x = V(12 + 4)[sin5x*2V3/4 -cos5x*2/4]=V(12 + 4)[sin5x*cosP/6 -cos5x*sinP/6]=4sin(5x-P/6) P/3+2P/5=

t=V

Sint=", =(5P+6P)/15=11P/15

t=P/6 _

cos24x*cosx + V3sinx=V(cos"2(24x) + 3)[cosx*cos24x/V(cos"2(24x) + 3) + sinx*V3/V(cos?2(24x) + 3)]= 11 P/ 1 5+2P/ 5_1 7P/ 1 S

\S/_gc;osgggsz\;( gg[sci\c;s(é’;sir;t:zi;x*cost]=V(Cos"2(24x) + 3)sin(x+) 17P/15+2P/5=23P/15
Nt = X X

coSt=V3/V(cos"2(24x) + 3) 23P/15+2P/5=29P/15

st P 29P/15+2P/5=35P/15=7P/3=2P+P/3

-8<=co0s24x*cosx + V3sinx - 6<=-4

4sin(5x-P/6)=-4

sin(5x-P/6)=-1 UeTBepTasa cepus npoBepKu

5x-P/6=3P/2+2Pk _

5x=3P/2+2Pk+P/6 x=29P/15

5x=10P/6+2Pk c0s24x=c0s24(29P/15)=cos(232P/5)=cos(230P+2P)/5=cos(2P/5)!=1

x=10P/30+2Pk/5 V(cosr2(24x) + 3)sin(x+t)-6 1=-4

x=P/3+2Pk/5
MepBas cepust NPOBEPKK Oteet: x=P/3+2Pk

x=P/3+2Pk
cos24x*cosx + V3sinx - 6=cos24(P/3+2Pk)*cos(P/3+2Pk) + V3sin(P/3+2PkK) - 6=
=cos(8P+48Pk)*cos(P/3+2Pk) + V3sin(P/3+2Pk) - 6=1*12+V3*V3/2-6="2+3/2-6=-4

BTopas cepua nposepku

x=11P/15+2Pk
cos24x=co0s24(11P/15+2Pk)=cos(264P/15+48Pk)=cos(264P/15)=cos((240P+24P)/15)=cos(8P/5)!=1

V(cos?2(24x) + 3)sin(x+t)-6 |=-4
TpeTbsa cepud nNpoBepKu
x=17P/15

cos24x=c0s24(17P/15)=cos24(17P/15)=cos136P/5=cos(130P+6P)/5=cos(6P/5)!=1

V(cos?2(24x) + 3)sin(x+t)-6 |=-4
UeTBepTaa cepusa NpoBEPKU
x=23P/15

| cos24x=c0s24(23P/15)=cos(184P/5)=cos(180P+4P)/5=cos(4P/5)!=1
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